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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence yvou will see

four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet,

They put the same amount of pressure on the two people under different conditions to see -
—=mmmmmmmmen they would react differently.

1) what 2) that if 3) although 4) whether

My mother is mad at me. I - something that upset her but 1 don't know what
it was.

1) must have said 2) should have said

3) might be said 4) could be said

Leave home as early as possible ——--------—-- make sure you would arrive at school at the
right time

1) for 2) in order 3)soasto 4) so that

My brother likes chocolate very much, but my Mom does not let him -—-———- any
because she says it may not be good for his health,

1) has 2) have 3) he has 4) who has

They did not finally go on a trip because they -——-——-—-- the places to visit.

1) separated from 2) consisted of 3) disagreed about  4) relied on

Your financial problem is really serious and you need t0 —-—-—— do something about it.
1) terribly 2) smoothly 3) entirely 4) definitely

Henry Ford, who first designed Model T cars in 1908, is considered by many as one of the -
-------------- in the area of car manufacturing because he was able to come up with many
new plans in this industry.

1) partners 2) pioneers 3) apprentices 4) passengers

The tamous researcher has been invited to —----------—-— a speech on the topic of global
warming.

1) make 2) take 3) raise 4) conduct

The old man is very proud of the ----——-—- -- of valuable stamps he has now available in
his album.

1) presentation 2) experience 3) contrast 4) collection

Whatever it was, it wasn't a spacecrafi—I'm ------—————— that.

1) responsible for  2) certain of 3) irrelevant to 4) specific to

After ----eemeeeeee -- the old part of the town, the tourists would go to visit some of the art
galleries.

1) recognizing 2) expecting 3) exploring 4) protecting

After many vears of —————-——- with their neighboring country, they have suddenly

decided to stop all that.
1) construction 2) income 3) labor 4) trade
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Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and
decide which choice (1}, (2), (3), or (4) best fits each space. Then mark your answer sheet.

In the 1990s, as the world began to become more and more digital, some people stated
that it would lead to the death of the city, as people’s geographical location would
become less and less (88) -———-———- 5

Two decades on, the opposite has happened: human beings continue to live very
much in the physical realm, and early this century (89) —-——-=meeeev people are living in
urban than rural areas. The UN (90) -—————-- that by 2050 the world’s urban
population will be as big as the world’s total population in 2002, But (91) ====mmmem—e—--
will the cities of tomorrow be like?

People continue to be attracted to cities by the economic, social and creative
opportunities (92) ==—mm—e———————— offer; large cities are more productive than rural areas:
they would be the places where people can make more money than they can in rural
areds.

1) artificial 2) personal 3) important 4) formal
1) many 2) few 3) some 4) more
1) predicts 2) communicates  3) instructs 4) notices
1) how 2) what 3) who 4) whom
1) which they 2) that offer 3) that 4) are

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed

by four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark your answer sheet,

Passage 1:

In 2011, eight percent of children eight-years old and younger used mobile devices daily.
That’s according to a report from Common Sense Media. This organization studies
issues of concern to teachers and families. By 2015, their report shows that figure had
more than doubled. Many pediatricians are concerned. In my view, they are right to be.

These caring doctors state that this trend is disturbing and needs attention. They focus
on data indicating that excessive media use by young children is linked to fatness, lack
of sleep, and aggressiveness. They also know that too much media use negatively affects
school performance. The American Academy of Pediatrics (AAP) suggests a plan to
handle the problem.

The doctors encourage families to set rules about TV consumption, texting, Internet
surfing, and social media use. They recommend limiting all four. As I see it, they are the
people who know best.

Which of the following best describes the author's view towards children's use of mobile
phones and other media devices?

1) Excited 2) Careful 3) Anxious 4) Economic

The word "pediatricians"” in paragraph 2 is closest in meaning (o —=-—==--=-eee-x 2

1) issues 2) doctors 3) reports 4) organizations
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The passage mentions all of the following as an end result of excessive media use by young

children EXCEPT -------——- ==

1) fatness 2) not enough sleep

3) poor school work 4) teachers' school performance

Which of the following is NOT stated in the passage?

1) Doctors have a plan to make schools forbid mobile use.

2) Young children's use of media devices is on the increase.

3) The American Academy of Pediatrics is concerned about the problem which is the
focus of the passage.

4) One cause of voung children’s aggressiveness can be their using media devices more
often than they should.

Passage 2:

Child labor refers to the employment of children in any work that does not allow
children enjoy their childhood, prevents them from attending regular school, and that is
mentally, physically, socially or morally dangerous and harmful. This practice is what
many international organizations are against. The law system across the world does not
accept child labor. The laws do not consider all work by children as child labor;
exceptions include work by child artists, family duties, supervised training, certain types
of work such as those by Amish children, some forms of child work common
among native American children, and others.

Child labor has existed to varving extents, through most of history. Before 1940,
numerous children aged 5-14 worked in Europe, the United States and various colonies
of European powers. These children mainly worked in agriculture, home-based assembly
operations, factories, mining and in services such as newsies.

In developing countries, with high poverty and poor schooling opportunities, child
labor is still common. In 2010, sub-Saharan Africa had the highest incidence rates of
child labor, with several African nations with over 50 percent of children aged 5-14
working., Worldwide agriculture is the largest emplover of child labor. Vast majority of
child labor is found in rural areas and informal urban economy: children are most often
emploved by their parents, rather than factories. Poverty and lack of schools are
considered as the primary cause of child labor.

The first sentence of the passage, ""Child labor refers ... and harmful,” is a ----------——--- ;

1) definition 2) pavchological topic
3) warning 4) national expectation

The passage supports the fact that ---—-----——-- -

1) child labor first began in Europe and the United States , but not in sub-Saharan Africa
2) if a child is forced to work by his or her parents, the case is not a case of child labor
3) some forms of child work are not sometimes considered as instances of child labor

4) child labor is internationally accepted

The word "those" in paragraph 1 refers {0 —-———-ea—ux,

1) types of work 2) exceptions

3) family duties 4) laws related to child labor

Why does the author mention African countries in paragraph 37

I) To give an example in support of an earlier statement

2) To indicate the relationship between poverty and child labor

3) To show the role of parents in causing voung children to work

4) To prove that in countries with a traditional mode of agriculture child labor is ignored
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Teil A: Grammatik

Welches der folgenden Verben wird stark Konjugiert?

1) d&ndemn 2) gelingen 3) brauchen 4) putzen

Man kann einer Depression indirekt vorbeugen, .......... man Stress vermeidet,

1) indem 2) trotzdem 3)ob 4) als

Welchen Kasus verlangt die Priiposition »innerhalb«?

1) Dativ 2) Genitiv 3) Nominativ 4) Akkusativ

Wie lautet der Plural von »der Dimon«?

1) Déimona 2) Ddmone 3) Ddmoner 4) Didmonen

Bei Miinchner Sicherheitskonferenz war der Terrorismus ein ...... wichtig ...... Thema.
1)—/—er 2)—e/-e 3)-/-es 4)—es/—es

Bei welchem handelt es sich um das Passiv Plusquamperfekt von »streiten«?

1) wird gestritten 2) ist gestritten worden

3) wurde gestritten 4) war gestritten worden

Ich freue mich sehr .......... , dass Sie an meiner Erfindung interessiert sind.

1) dariiber 2 datiir 3) davon 4) damit

Kohl kritisiert Merkels Flichtlingspolitik, .......... ihren Namen nennen zu wollen.

1) damit 2y auBer 3) statt 4) ohne

Die Stadt, in .......... ich geboren wurde, war im Mittelalter eine wichtige Handelsmetropole,
1) die 2) dem 3) der 4) den

Klaus geht es sehr schlecht, wir .......... ihn zum Arzt bringen,

1) diirfen 2) milssen 3) kinnen 4) migen

Teil B: Vokabeln

Welches Wort passt nicht in die Reihe?

1) Mantel 2) Jacke 3) Miinze 4) Weste

In einer Apotheke kann man .......... kaufen.

1) Arznei 2) Geschirr 3) Tabletts 4) Zigaretten
nBlitz« verhilt sich zu »Licht« wie »Donner« zu »........4

1) Regen 2) Alarm 3) Gerdusch 4) Gewitter
Es gehiirt viel .......... dazu, nachts allein durch die Gegend zu laufen.

1) Mut 2y Geduld 3) Witz 4) Talent

Er hat furchtbar lange Haare, er muss sie .......... lassen,
1} wachsen 2) waschen 3) firben 4) schneiden
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Teil C: Liickentest
Ergiinzen Sie den Text mit den richtigen Auswahlmioglichkeiten!

Die Biicher von Cornelia Funke sind nicht nur in Deutschland sehr (91) .........., viele von
ithnen wurden in andere Sprachen (92) .......... , manche sogar in iiber 35 Sprachen. Im
Oktober 2012 wurde (93) .........., dass weltweit schon mehr als 10 Millionen Biicher von
ihr verkautt wurden. Aus einigen Biicher sind Theaterstiicke entstanden, zum
Y Lo aus ,Herr der Diebe*. Manche ihrer Biicher wurden auch verfilmt,
(95) .......... .,Die wilden Hithner* und die Tinten-Trilogie.

1) kastlich 2) grofziigig 3) erfolgreich 4) unterschiedlich

1) geschrieben 2) iibersetzt 3) versetzt 4) gebracht

|) bekannt 2) beschlossen 3) erwartet 4) bewiesen

1) Teil 2) Beispiel 3) Abschluss 4) Ziel

1) damit 2) darin 3) dadurch 4) darunter

Teil D: Leseverstehen

Der Kongo ist ein Fluss in Afrika. Aol diesem Kontinent gibt es keinen Fluss, in dem
sich noch mehr Wasser befindet. Obwohl der Kongo eine Linge von 4374 Kilometern
hat, ist in Afrika der Nil noch linger. Auf der ganzen Welt sind insgesamt nur acht
Fliisse linger als der Kongo. Der Fluss fliefit vor allem in dem Staat, der Demokratische
Republik Kongo heifit. Die wichtigsten Stidte des Landes liegen am Fluss, der in den
Atlantischen Ozean miindet. Noch ein weiterer Staat ist nach dem Fluss Kongo benannt:
die Republik Kongo. Fiir eine lingere Strecke ist der Fluss die Grenze zwischen beiden
Staaten.

Der Kongo ist der.......... Fluss Afrikas.

1) lingste 2) breiteste 3) schmutzigste 4) wasserreichste
Wo miindet der Fluss Kongo? In den .......... .

1) Pazifik 2) Nordsee 3) Atlantik 4) Indischen Ozean
Auf der Liste der lingsten Fliisse der Welt steht der Kongo auf Platz .......... .

1) acht 2) neun 3) sieben 4) zehn

Laut Text liegen die wichtigsten .......... entlang des Flusses Kongo,

1) Stidte 2) Eisenbahnstrecken

3) Kraftwerke 4) Windmiihlen

Wie heillt der Staat, in dem der Fluss Kongo vor allem fliefit?

1) Republik Kongo 2) Elfenbeinkiiste

3) Republik Siidafrika 4) Demokratische Republik Kongo
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Partie A: Grammaire
Complétez les phrases suivantes en cochant la réponse correcte:

1l prend toujours une tarte .......... fraises pour le dessert.

1) de 2) des 3) aux 4) les

En France, le président de la République est élu ........ cing ans.

1)en 2) pour 3) depuis 4) pendant
Pierre aime le poivre, il ......... met beaucoup dans sa soupe.

1) en 2) lui 3)le 4)y

Le dimanche, ¢'est le jour ......... les Francais ne travaillent pas.

1) ol 2) dont 3) que 4) qui

A midi, il a 'habitude de manger peu: il ne prend .........des fruits.

1) ni 2) plus 3) pas 4) que

Ne signez pas le contrat ! Trop tard! .......... .

1) je signe 2) j'avais signé 3) j'ai signé 4) je signais
Si tu faisais des efforis, tu ......... .

1) progresseras 2) progresserais 3) progresses 4) aurais progressé
Tout est sale: il faut que je ... le ménage et la vaisselle.

1) ferais 2) fais 3) ferai 4) fasse

Partie B: Vocabulaire:
Complétez les phrases suivantes en cochant la réponse correcte:

Apres 'orage, on se proméne dans la forét pour ......... les champignons.

1) ramasser 2) arroser 3) tondre 4) cueillir

Pendant les vacances de nouvel an, il a plu tous les jours; on a eu des journées ........... .

1) lourdes 2) pluvieuses 3) affreuses 4) radieuses

Laurent a eu un réve: se marier et avoir des enfants. Mais le probléme est qu'il ne trouve
pas la femme de sa vie: il est toujours ...........

1) divorcé 2) veut 3) marié 4) célibataire

Il a quitté son pays et s'est installé en France poury travailler: il est ........... .

1) exilé 2) immigré 3) en asile 4) réfugié

Il est interdit que les ............ traversent les autoroutes.

1) passagers 2) passants 3) piétons 4) vovageurs

11 est dans un impasse mais il est trop ........... pour demander notre aide,

1) fier 2) égoiste 3) gentil 4) vaniteux

Le directeur refuse de signer la lettre qui est pleines de ........ et demande sa correction.

1) taches 2) erreurs 3) fautes 4) ratures

Partie C: Texte & Compléter:

Complétez le texte suivant a 'aide des ¢léements proposés:

L'lIslam est, aprés le Judaisme et le Christianisme, la troisiéme des grandes religions ........... (91)
révélées, en milieu sémique. Sa source essentielle est constituée .......... {92} un Livre, le Coran
en langue arabe. Le Coran ........... (93) comme une succession de 114 chapitres subdivisés en
6226 versets. Quant au fond, c'est une récapitulation et un point final pour ... (94) les
prophéties antérieures, celles de la bible et de 'Evangile. Les Musulmans considérent que son
texte est la méme parole de Dieu. lls ........... (95) comprennent a l'aide des recueils postérieurs

des propos de Mahomet.
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91- 1) universel 2) universels 3) universelle 4) universelles
92- 1) d' 2) par 3) avec 4) pour

93- 1) forme 2) est créé 3) se présente 4) représente
94- 1) tout 2) toute 3) tous 4) toutes

95- I)le 2)la 3)en 4) lui

Partie D: Compréhension de Texte:
Lisez le texte suivant et répondez aux questions:

Plus de dix millions de vovageurs utilisent chaque jour les réseaux de la RATP. Les
incivilités sont donc un sujet majeur pour l'entreprise.

Aujourdhui, avec cette nouvelle campagne de communication autour du slogan
Restons civils sur toute la ligne", la RATP reprend la parole dans sa lutte contre les
incivilités dans les transports en commun.,

Le terme incivilité est clairement identifié comme le non-respect de l'ensemble des
régles du savoir voyager ensemble: le manque de propreté, les nuisances sonores, la
bousculade, I'absence de courtoisie, la fraude.

Le ton choisi pour cette campagne est volontairement décalé et humoristique: on
souligne l'absurdité du comportement de celles et ceux qui commettent des incivilités
dans les transports.On met ainsi en avant l'idée que tout acte dincivilité ne nuit pas
seulement a la collectivité, mais également a l'individu qui le commet.

Un site interactif www.chervoisin-de transport. Fr, constitue la premiére étape de la
campagne. Ce site temporaire invite les vovageurs a s'exprimer de maniere décalée et
humoristique sur des situations vécues,

96- Quel le sujet de la campagne dans 'article?
1) Le témoignage des passagers.
2) L'incivilité dans les transports.
3) Le comportement des citadins dans la ville.
4) La publicité pour la promotion des transports.
97-  La RATP lance une lutte contre les ........... dans les transports.

1) incivilités 2) publicités 3) abonnements 4) prix des tickets
98- Le terme incivilités signifie .......... des voyageurs.

1) la fraude 2) l'indignation

3) l'impolitesse 4) le non-respect des regles
99- Le ton de la campagne de la RATP est ........... .

1) humoristique 2) sérieux 3) sevére 4) grave

100- Cette campagne fait partager aux voyageurs leur indignation dans les transports ... .
1) en leur proposant un jeu
2) en leur expliquant les incivilités.
3) en leur vendant des tickets gratuits
4) en les invitant & raconter leur expérience sur le site
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A.

76-

77-

81-

82-

BoifepuTe npaeuIbHBIH BAPHAHT OTBETA:

Bana HHKAK HE MOKET MOHAThs covvvrsvrssssssnssns OH TAK PAAYETCH.

1) uemy 2) ¢ uem 3) 0 uem 4) guero

HpBan Bech DeHbL NEPEBOIHI CTATBIO wvvvvernrrnrinrirnn s

1) pycckoii nuTepary poii 2) ¢ pyccroii nuTepary poii

3) 0 pycckoit auTeparype 4) pyCCKYI0 JIHTEPATYPY

“]’J‘E?‘I‘B‘lf HEeM HPHHATEH BALLE NPELTOHREHHE, H XOTE] 011 l.lﬁ'l.'}’..'ll‘l'l'h CHBAIMH soevcnsnnsnssnnns s
1) oKCKY pCHOHHOH nporpaMMoii 2) € IKCKVPCHOHHOH nporpamMmoii

3) 06 IKCKYPCHOHHOI nporpamme 4) IKCKYPCHOHHYIO MPOrPaMMmy

ODBEIMHO fl BCETIA cuvernervannnnnnnn B 0 4acoB.

1) BCcTATH 2) BcTaio 3) BcTaHy 4) BcTaBath
MamuHa ...ovoeviiiiiniinnn K G0ALIOMY 03epy.

1) Brexana 2) nonxwexana 3) nepeexana 4) zaexana

B rearpe GBI BEUEP cvvvivriaiinnsannin ;

1) My3BIKAJILHOTO TEAaTpa 2) B My3BIKATBHOM TeaTpe

3) B My3pIKAlLHLIH TeaTp 4) My 3blKalIbHBIH TeaTp

B 16 4ac0B HAYMHACTCH «ovvvnrirrirsin «

1) nekuuio 2) nexkumsx 3) nexkumns 4) nexumusam

Y MOHX POAHTEIEH MHOTO ooviiiriniiinrsnnin

1) apy3pam 2) apy3nax 3) apy3bs 4) apysei
¥Yueinbtii 101 B POCCHN HAMHHACTCOH «ovviiiiiriniaas -

1) cenTabpe 2) B centadpe 3) cenrabpa 4) B cenTabpL
HBan Du171 ¥ BPAYA, ..vovveveerinnnesns. OH BEPHY.ICH 0Y€HB NO3IHO,

1) v koToporo 2) KoTopbiii 3) koTopas 4) oT KoTOpPOro
Tol yile UNTAN MOBECThy vrvsrsrsesnnsassasss TOBOPHA Buepa Hpan?

1) koTopas 2) 0 koTopoii 3) KoTOpYIO 4) KoTOpLIH
Hamsrring UKorouio Haxoamrest PHAOM ...vvvrrrersrisrn

1) ¢ HepckrM npocnekTom 2) HeBcKoro npocnekra

3) na Hepckom npocnexre 4) ot Hesckoro npocnexra

Hatama .....ccovvvimviinnnn Heped 10pOry H celia B agTodye.

1) npumina 2) oromna 3) nepemna 4) omna
KHHra y#e ...oooeevvvnnnnninns - L€ MOEHO €18ThL B GHOIHOTEKY.

1) npounTanHas 2) npounraHa 3) npodMTaHHOE 4) npourTaHo
.................... ka0, Harama ne cmoraa BoiiTH B 10M.

1) HMorepasuinii 2) Teparowmii 3) Tepaa 4) [Morepse

OUTer XOUET IHATD, vvvvvveiirnrssians BUEPA DBLT A€HL POATCHHNA.
1) ¥ koro 2) k1o 3) koro 4) Kk komy



¥ doeaes 430-C L l_-,l.ij

92-
93-
94-
95-
96-

98-

99-

Nonoaaure TEKCT, HCTIMMVTRIYH MOAX0ARICC M0 CMBICTY CTOBO.

Mama pacckazana (92) .................... 0 ee genywke. OH KU B JEPERHE, CTPOKI 10Ma,
aB(93) .......oovvvvn... Bpema nien B xope. On mobua (94) ... . Y Hero (95)
e veeene... KpacHselii ronoc. Koraa (96) ..o.ooooovennnenn . OBIIO IEBAHOCTO JIET, OH

npuexan B Mockey.

1) Auna 2) Auny 3) AHHe 4) AuHb

1) crobOHBIH 2) croboaHoe 3) croboaHanA 4) croboaHYIO
1) My3BIK 2) My3EIKA 3) My3bIKe 4) My3IBIKY

1) Obo 2) Obina 3) Owin 4) OBITE

1) emy 2)on 3)ee 4)ero

"pﬂ'll{TaﬁTE TEKCT H BEBINOUTHATE 33JaAHHA MOCJIe HETOX

Ocenblo, KOrjaa OCLINANCA ¢ JA€PeBbEB 30710TOH JNHCT, POAWIMCH ¥ CTApoil 3aifuuxu Ha
Donore TPH MAIEHBKHX JAHYOHKA. Hﬂ'.‘ihl BAKYT OXOTHHKH OCEHHHX JaH4aTr
nucTonagHuykamMu. Kakaoe vTpo cMOTpeld 3aifuara, Kak pasryidBaloT KYpPasiH 1o
3eneHoMy DONOTY, KaK YYATCA NETATh J0JITORALIE Ky PARIATA.
- Bot OB W MHE TAK MOJETATH, - CKA3aJ MAaTEPH CaMbli MalleHBKHH 3aHY0HOK.
-He roeopu raynoctu! — crporo oreserdna crapas 3aiuuxa. — Paizee aiinam nonaraercs
neTarh?

[Ipuinna nozaHsas oceHkb, CTAIO B IECY CKYYHO W Xom0aH0. Ctanu coOHpaThes NTHILL
K OTJETY B Temaksle crpadsl. Kpyxar Haja D010TOM Ky paBiu, NPOWAKTCA HA BCIO 3UMY €
MHIOH poIMHON. 3annakanH JTHCTONAAHHYHKH-3aiyara:
- Yro-to Gyner ¢ namn? 3amepinem 3umoi Ha bonore.
- He rosopure roynocru! — Eme crpowxe ckasana safiumxa. — Pase samepsator saiinm
3umoi? Cropo BRIPAcTET HA Bac rycrad, Tenmad wepctka. Beinazer cuer, Oyaer Ham B
CHErY TEMJO H YIOTHO. ¥ NOKOWIHCE 3aiivara.

Koro oXoTHHKEH HAILIBAOT JHCTONATHHYKaMnA?

1) Bcex 3aiuar 2) Beex wypasiei

3) J0ArOBA3LIX AKYPABIAT 4) oceHHHX 3aiuar

Ha uro emorpean 3aiivara kaxnoe yrpo?

1) Kak yyarca JeTaTh Ay paeidara 2) Kaxk MIaBamT YTKH

3) KaK pasryJIHRAKOT 3aHIL 4) Kax zanereny nexeboKH-MenRenH
HeMy X0Te HAYHMHTBCH CaMblii MaaeHsKHil 3aiiMoHoR?

1) nnapare, KAK yTKA 2) X0/IUTh, KAK LATLUIA

3) nerarb, KAK Ky PAEIb 4) #uTh, Kak 3aiunxa

[Houemy 3aiiusl He 3aMep3awT 3UMOE T

1} v uux Tennoe Goa0To

2) oHH NPAYYTCA B rIyOOKHX HOpax

3) onm cTpoaT cebe Tennas KHIHIA

4) y HUX BRIPACTALT rycras v Tenjas iepcTka
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Capitolo A: Indicate la risposta corretta:

76- Tra le frasi seguenti quale ha aggettivo indefinito?
1) Daremo aiuto a colui che sara” in difficolta’.
2) Abbiamo camminato per due chilometri.
3) Mi presti la tua bicicletta, per piacere?
4) Le ho regalato un romanzo giallo.
77-  Indica in quale delle seguenti frasi vi ¢ un pronome?
1) Ho visto Maria, la conosci?
2) Alessandro ha trovato un lavoro.
3) Il professore mi ha interrogato in storia.
4) Il padre ha detto alla famiglia che era stanco.
78- Indica il contrario della parola abbastanza.

1) molto 2) troppo 3) abbondante 4) insufficientemente
79- Trasformare la frase usando la forma impersonale: Gli student si davano del tu a scuola.
1) Si dava del t a scuola. 2) Ci si dava del tu a scuola.
3) Davano del tu a scuola. 4) Gli studenti si davano del tu.

80- Completa la seconda parte della frase con la forma adeguata del passato remoto. Loro
persero la chiave e voi ................. I'indirizzo,

1) perdesti 2) perdette 3) perdeste 4) perdiate
81-  ...ccenn. che vogliono un certificato lo possono chiedere alla segretaria,

1) loro 2) coloro 3) colui 4) i quali
82- Acawsadi................ del personale, oggi I'ufficio restera’ chiuso.

1) una cosa 2) una vicenda 3) uno sciopero 4) un avvenimento
83 .ocieeeeseeess te, mi sento stupido.

1) confronto a 2) a confronto di 3) di confronto a 4) in confronto a
84- Clara e Mario non stavano bene insieme € ...

1) si salutano 2) si lamentano 3) si sentono male  4) si sonon lasciati
85- E partita tua sorella? Si, mio fratello ........c.oveee.e. alla stazione,

1) I' ha accompagnata 2) I' ha accompagnato

3) I' k" accompagnato 4) le ha accompagnata
86- Anna ........coe.... Una e-mail al suo amico Michele.

1) spedisca 2) spedisce 3) spede 4) spedi
87- Hai mai .....cccoeeeeee.. | dolei siciliani?

1) visto 2) capito 3) visitato 4) assaggialo
88- Non sapevo che anche voi v, qui in vacanza,

1) veniste 2) venisse 3) veniate 4) venga
BY9-  Se tl ...ouseeenns sarei la persona pin felice del mondo!

1) mi amaste 2) mi amassi 3) mi amavi 4) mi ami

90- Pietro ¢' andato in ufficio di sabato a patto che lui ............. avere il lunedi' successivo libero,
1) puo’ 2) possa 3) potesse 4) potrebbe
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Capitolo B: Completate il seguente testo con le parole proposte:

95.

97-

98-

99-

100-

Pili comunemente conosciuti in Italia con il nome di trombe d'aria, i tornado sono dei
turbini di .......... (91) che si creano nel centro di una nube temporalesca, gonfia di
........... (92), e vorticano poi fino al terreno. L’aria, girando molto velocemente in un
genere di mulinello (in alcuni casi raggiunge i 500 chilometri orari!), crea una condensa
del vapore acqueo e, allo stesso tempo, solleva polvere e detriti: questi due elementi
AT * (93) roteando insieme, rendono la tromba d’aria consistente e quindi visibile
all’occhio umano (altrimenti, essendo fatta appunto di aria, non potrebbe essere

distinguibile). I meccanismi che .......... (94) questo fenomeno non sono ancora del tutto
spiegabili e ben .......... (95).

1) aria 2) vento 3) terra 4) clima

1) neve 2) vento 3) pioggia 4) tempesta

1) lasciati 2) mandati 3) mescolati 4) abbandonati

1) lasciano 2) regolano 3) mandano 4) vedono

1) visti 2) espressi 3) cambiati 4) conosciuti

Capiotolo C: Leggete il testo e rispondete alle domande seguenti:

Come per tante altre ricorrenze, le origini della festa Halloween sono molto lontane nel
tempo: si legano a riti contadini, alle feste legate al raccolto, alla voglia di esorcizzare la
paura della morte. La celebrazione di Halloween ha probabilmente origini Celtiche. Gli
antichi Celti (abitavano in Gran Bretagna, Irlanda e Francia) erano un popolo dedito
all’agricoltura e alla pastorizia e festeggiavano I'inizio del Nuovo Anno il 1"Novembre,
che era il giorno in cui si celebrava la fine della “stagione calda™ e I'inizio della “stagione
delle tenebre e del freddo™. La ricorrenza segnava la fine dei raccolti, il momento in cui
le greggi venivano riportate negli ovili e ¢i si preparava a trascorrere il lungo inverno
nelle proprie case.

La festa di Halloween & una festa di interesse .....ooeeenna

1) collettivo 2) singolare 3) individuale 4) amministrativo
La suddetta festa si era legata ....cooocvveeennne

1) a un campo 2} a un contadino

3) a una societa 4} alle colture dell’annata

Con la festa i contadini cercavano di ..o la paura della morte,

1) capire 2) vedere 3) lasciare 4) tenere lontano

La paroela “dedito™ nella frase “gli antichi celti erano un popolo dedito all agricoltura™ vule
dire ..ociciinn.

1) portato 2) lasciato 3) dedicato 4) rassegnato

Per il popolo celtico 'inizio dell’undicesimo mese era la fine della .........cccoee.

1) freddezza 2) caldezza 3) stagione buona  4) stagione moderata
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